N = 0l & AF & F Al A

SN MS
HE: NS ARFY
!

Sl EOIIME HASY L HOAL X (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Moi1S 204, 126 231,406 £27,280
MOS AP A 132,880 139,430 6,550
ZOTIIME HASY L BOYAL X2 89,970 9,520 6,550
FOTIIME 2 60,600 63,800 A3,200
201 LByl 60,000 63,800 3,800
01 Attt 60,000 63,800 3,800
OFUNIIME 29 60,000, 0002 60,000
405 THAHE S 600 0 600
01 RMUSEHSY| 600 0 600
OFUNXIHE 35 UIRHA HEI| 2
20,0002 54 600
ZOIB O Al L X2 29,370 32,720 £3,350
201 LByl 14,370 1,720 2,650
01 Attt 1,000 0 1,000
OSHBUT ME 1,000,00024 1,000
02 BZ2Y| 13,370 1,720 1,650
OBALOUAHIAIAY A2 200,002 128 2,400
OLRIHOIH R4 BAE 160,002 122 1,920
oMLY L a2 4,000,0002! 4,000
OAYHIHIY ALUNTY +42
650,0002 650
OFIIHEEE bl L ®IFY 442
20,0002 200
O 2 HIZERXYI 1,500,0002 1,500
CELEL-CRSI] 70,0002 700
OF4I| % HIG YU 2,000,000 2,000
203 YREZY| 2,200 2,200 0
03 AlZ =T R =Y 2,200 2,200 0
OSHARANHEZ 2,200,0002 2,200
301 LBBAI 2,800 2,800 0
09 BoA2RLABAS 2,800 2,800 0
OAslZR0 B2 S|
5, 0002 28 x2802 2,800
401 Al&HIL 20| 10,000 16,000 6,000
01 Al&H] 10,000 16,000 26,000
OSFUMH ARRAE &X L SN 24|
10,000,0002 10,000
selury BERy 42,910 42,910 0
SN SBAN 42,910 42,910 0
301 LPBA 42,910 42,910 0




SH: MOlS
HE: MOIE AR
ol S2lEE BERY (el:@g
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- - T - = S = o = 0:”/&,% Wsa
05 E-2-BtEEs2A3 42,910 42 910 0
Os&sE 200,000 12 x12& 28,800
Os&ANHZ2 200,000 x 128 x23| 4,800
OE&ZoELLH 20,000 x12H 23| x12& 5,760
OEtEE = | 50,000 x71H x13] 3,550
HANSAAY (MH1SE) 71,246 91,976 N20,730
Cled2 Y| (MA1S) 29,140 29,180 A40
AHOIHH (MH1E) 19,260 19,260 0
101 Q12| 19,260 19,260 0
03 RIHLZ = X2 19,260 19,260 0
O AN LEOIE 19,260
23 734,800 x1H x12& 8,818
-M0H= 8,817,600& x1/3 2,940
A2t 224 E 4,220 x1H *x22A| 2tx 12 1,115
-524224G 50,6408 x 1H 2 x12& 1,216
-5 33,760 x 1H x5z 1,756
-AXRssY 33,7603 x20 676
-JhAt2 8,817,600& *12% 1,059
~HHZAH| 80,0008 x1H x12& 960
- EH| 60,0008 x1H x12& 720
SEANOIAH(MAIS) 9,880 9,920 A40
203 PREXY| 9,880 9,920 A40
01 JI2S2HS2=XH| 6,600 6,600 0
OJ| 22 2=KXY| 6,600,000 6,600
02 ERIIMER2FXH| 280 320 A40
O JAIAH RF=XRIH| 40,000 x7H 280
04 BEASHE 28| 3,000 3,000 0
OBAN2IE AR F=&IH|(15210/6t)
250,000& x12& 3,000
Jl2Zd|(Ma1s) 42,106 62,796 A 20,690
Jl2dd(MAIS) 42 106 62,796 A 20,690
201 Yereo| 26,666 28,956 A2,290
01 AP 2t2ld] 9,670 11,200 A 1,530
OEA2Y AIR&EIE(ZBE) 9,670,000& 9,670
02 22244 16,996 17,756 AT760
OdIIe2 13,909,000 13,909
Quatete=E=R22 987,000 987
ORER2 2,100,000& 2,100
202 O4d] 15,440 15,440 0
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